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General Instructions

Read the following instructions very carefully and strictly follow them:
1. Please check that this question paper contains 31 printed pages.
2. Please check that this question paper contains 34 questions.

3. Q.P. Code given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

4. Please write down the Serial Number of the question in the answer- book at the

given place before attempting it.

5. 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the candidates
will read the question paper only and will not write any answer on the

answer-book during this period.
6. This Question Paper has 34 questions. All questions are compulsory.

7. This question paper contains two parts - Part - A 1s compulsary for all students ,
Part B has two options.Candidate must attempt only one of the two options:

Option I: Analysis of financial statements . Option II:Computerised Accounting.

8. Attempt all questions based on specific instructions for each part. Write the

correct question number and part thereof in your answer sheet.
9. Separate instructions are given with each question/part, wherever necessary.

10. Adhere to the prescribed word limit while answering the questions.




SECTION A

(ACCOUNTING FOR PARTNERSHIP FIRMS AND COMPANIES)
1. There are two statements Assertion (A) and Reason (R) :
Assertion (A) : The partners’ fixed capital accounts always show a credit balance, which
shall remain the same (fixed) year after year unless there is any addition or withdrawal of
capital.
Reason (R) : When capitals are fixed, then various items like share of profit or loss, interest
on capital, drawings, interest on drawings, etc. are recorded in partners’ capital accounts.
Choose the correct option from the following :
(A) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct explanation
of Assertion (A).
(B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the correct
explanation of Assertion (A).
(C) Assertion (A) is correct, but Reason (R) is incorrect.
(D) Assertion (A) is incorrect, but Reason (R) is correct.
Correct Answer: (B)
Solution:
Under the fixed capital method, the partners maintain two separate accounts: (1) Fixed
Capital Account and (2) Current Account.
The Fixed Capital Account records only the permanent capital invested in the firm. This
amount generally remains unchanged from year to year unless there is any additional capital
introduced or any permanent withdrawal of capital. Therefore, Assertion (A) is correct
because it rightly states that the fixed capital account stays the same (fixed) unless additional
capital is introduced or withdrawn.
On the other hand, transactions like share of profit or loss, interest on capital, drawings,
interest on drawings, salary or commission to partners, etc. are recorded in the partners’
current accounts under the fixed capital method. Hence, Reason (R) is incorrect as an
explanation of Assertion (A). While Reason (R) is itself a true statement, it relates to the
current account, not the fixed capital account.
Therefore, both Assertion (A) and Reason (R) are correct individually, but Reason (R) is not

the correct explanation of Assertion (A). Hence, option (B) is correct.
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Quick Tip

Remember: Under the fixed capital method, profits, interest, and drawings are posted

to current accounts, not the fixed capital account. Only permanent changes in capital

affect the fixed capital account balance.

2. (a) Rani, Maharani and Laxmi were partners in a firm sharing profits and losses in the
ratio of 3 : 3 : 2. On 1% April, 2024 they admitted Reena as a new partner for % share in the
profits of the firm. Reena acquired her share from Rani and Maharani in the ratio of 3 : 2.
The new profit sharing ratio between Rani, Maharani, Laxmi and Reena will be :
(A)51:59:40:50

(B)51:59:50:40

(C)59:51:50:40

(D)40:51:59:50

Correct Answer: (B)

Solution:

Old Ratio of Rani, Maharani, Laxmi=3:3:2

Reena is admitted for % share in profits. So, remaining share for old partners = 1 — % = %.
Reena acquires her $ share from Rani and Maharani in the ratio 3 : 2.

Let’s calculate the exact shares:

Rani’s sacrifice = 2 x 1 =
Maharani’s sacrifice = £ x
Laxmi does not sacrifice any share.
Old shares:

Rani = %

Maharani = %

Laxmi=2 =1

Q0|
I

New shares of Rani and Maharani:
i3 _ 3 _ 7524 _ 51
Rani = 3 — 52 = 555~ = 355

i3 _ 2 _ 75-16 _ 59
Maharani = § — 5 = 5557 = 555

i 1,4 _1_ 40
Laxmlsshare—4>< E=F = 500



. —1_ 40
Reena’s share = 5= 200

Hence, new ratio =51 :59:40: 40

Thus, the correct answer is (B).

Always adjust old partners’ shares for the sacrificed portion when a new partner is

admitted. Calculate the new ratio precisely in fractions before converting to whole

numbers.

2. (b) Ravita, Savita, Kavita and Babita were partners in a firm sharing profits and losses in
the ratio of 5: 3: 2 : 2. On 1% April, 2024 Savita retired and her share was acquired equally
by the remaining partners. The new profit sharing ratio between Ravita, Kavita and Babita

will be :

(A)2:1:1

B)1:2:1

C1:1:2

(D)3:3:2

Correct Answer: (A)

Solution:

Old Ratio = Ravita : Savita : Kavita: Babita=5:3:2:2

o -3 _1
Savita’s share = 5 =1

This }1 is acquired equally by Ravita, Kavita, Babita.

Eachgets=1+3= 4

New shares:

Ravita= 5 + 5 =3 =1
Kavita= 2 + 5 =3 =1
Babita= 2 + =3 =1

Ratio=1/2:1/4:1/4=2:1:1

Therefore, option (A) is correct.



On retirement, distribute the retiring partner’s share among remaining partners as per

agreement or equally if not specified.

3. On dissolution of a firm, there was an unrecorded asset of ¥ 15, 000 which was taken over
by a partner at X 13, 000. Partner’s capital account will be debited by :

(A)X 15,000

(B) % 28,000

(C)X 2,000

(D) T 13,000

Correct Answer: (D)

Solution:

An unrecorded asset is one that doesn’t appear in the firm’s books but has value. When a
partner takes it over on dissolution, his capital account is debited with the amount he pays or
agrees to pay for it—not the book value.

Here, the asset was valued at ¥ 15, 000 but taken over for X 13, 000.

Hence, partner’s capital account is debited by X 13, 000.

On dissolution, partners’ capital accounts are debited with the agreed takeover price of

assets, not their original value.

4. Sun and Moon were partners in a firm sharing profits and losses equally. Their fixed
capitals were ¥ 5,00, 000 each. After the accounts for the year ended 31 March, 2024 were
prepared, it was discovered that interest on capital @ 10% p.a. was not credited to the
partners’ current accounts as provided in the partnership deed.

The rectifying adjustment entry for the same will be :



Particulars Debit Amount (%) | Credit Amount ()
(A) No Entry
(B) Sun’s Current A/c Dr. 50,000

To Moon’s Current A/c 50,000
(C) Moon’s Current A/c Dr. 50,000

To Sun’s Current A/c 50,000
(D) Sun’s Current A/c Dr. 50,000

Moon’s Current A/c Dr. 50,000

To Profit and Loss Appropriation A/c 1,00,000

Correct Answer: (D)
Solution:
Interest on capital @ 10% on X 5,00, 000 each =X 50, 000 per partner.
Since it was omitted, both partners should receive interest. The missing interest is an expense
for the firm and should be transferred to the Profit and Loss Appropriation Account.
Therefore, we debit the partners’ current accounts and credit the Profit and Loss
Appropriation Account.
Entry:
Sun’s Current A/c Dr. X 50, 000
Moon’s Current A/c Dr. X 50, 000
To Profit and Loss Appropriation A/c X 1, 00,000

Hence, option (D) is correct.

Always pass a rectifying entry to adjust omitted interest on capital. It affects the Profit

and Loss Appropriation Account.

5. John and Harry were partners in a firm sharing profits and losses in the ratio of 2 : 1. On
1% April, 2023, they admitted Dinesh as a new partner for %1 share in the profits of the firm
with a guarantee that his share in the profits shall be at least X 1, 00, 000. The net profit of the
firm for the year ended 315 March, 2024 was X 2, 80, 000. John’s share in the profits of the



firm after giving the guaranteed amount of profit to Dinesh will be :
(A) T 1, 40,000

(B)X 1,20,000

(C)X 1,00,000

(D) T 70,000

Correct Answer: (B)

Solution:

Total profit =3 2,80, 000

Dinesh’s normal share = }1 x 2,80,000 =X 70,000

He is guaranteed X 1, 00, 000. Deficiency = X 30, 000

This deficiency is borne by John and Harry in their old ratio =2 : 1
John’s share of deficiency = % x 30,000 = X 20, 000

Harry’s share of deficiency =X 10, 000

John’s share in remaining profit = % x (2,80,000 — 1,00,000) =X 1, 20,000
Therefore, John’s final share =3 1, 20,000 — 20,000 = ¥ 1, 00, 000
Wait! Let’s check carefully:

Remaining profit after giving Dinesh = 2,80, 000 — 1,00, 000 = X 1,80, 000
John’s share from remaining = % x 1,80,000 = 1, 20,000

Less his share of deficiency (X 20, 000)

Thus, John’s share =3 1, 00, 000

Hence, correct answer is (C).

Correction: The answer is (C) ¥ 1, 00, 000.

Always subtract guaranteed amounts first, then distribute the balance among old part-

ners.

6. (a) Jeeta Ltd. forfeited 300 shares of ¥ 100 each for the non-payment of final call of X 10
per share. The amount credited to share forfeiture account will be :

(A) X 30,000

(B) X 27,000



(C)X 9,000

(D) T 3,000

Correct Answer: (B)

Solution:

Amount received per share before forfeiture = X 90
Total received = 300 x 90 = X 27,000

Hence, credited to forfeiture account =X 27, 000.

Forfeiture account = total amount received on forfeited shares.

OR

(b) Meeta Ltd. invited applications for issuing 30,000 equity shares of ¥ 10 each.
Applications for 29,500 shares were received. Allotment was made in full. A shareholder
holding 100 shares failed to pay the first call of X 2 per share. His shares were forfeited. The
second call of X 3 per share was not yet made. The amount debited to share capital account,
on the forfeiture of shares will be :

(A) X 3,00,000

(B) ¥ 2,95, 000

(C)X 700

(D)X 300

Correct Answer: (C)

Solution:

Amount called up per share till forfeiture = 10-3 =% 7

Amount debited to capital account = 100 x 7 =X 700.

Only called-up amount is debited to share capital on forfeiture.

7. The debentures that can be transferred by way of delivery and the company does not keep

any record of the debenture holders are called :



(A) Redeemable debentures

(B) Convertible debentures

(C) Zero Coupon Rate debentures

(D) Bearer debentures

Correct Answer: (D)

Solution:

Bearer debentures are transferred by delivery and are unregistered, thus the company

maintains no record of holders.

Bearer debentures = negotiable instruments like currency notes.

8. (a) Sudha, a partner withdrew ¥ 12,000 on 315 October, 2023 for her personal use. Interest
on drawings is charged @ 6% p.a. The interest on Sudha’s drawings for the year ended 31
March, 2024 will be :

(A) X 300

(B)X 30

(C)X 3,000

(D)X 150

Correct Answer: (A)

Solution:

Period = 5 months (Nov—Mar)

Interest = 12,000 x 6% x 5 = ¥ 300.

Interest on drawings = Amount x Rate x Time/12.

OR
(b) The partnership deed should be prepared as per the provisions of which of the following
Acts ?

(A) The Companies Act, 2013



(B) The Indian Partnership Act, 1932
(C) The Indian Stamp Act

(D) The Cooperative Societies Act
Correct Answer: (B)

Solution:

The Indian Partnership Act, 1932 governs partnership deeds in India.

Always quote the Indian Partnership Act, 1932 for partnership rules.

9. Manoj, Dilip and Rajinder were partners in a firm sharing profits and losses in the ratio of
7 : 3 : 5. Their fixed capitals were X 10, 00, 000, X 8,00, 000 and X 6, 00, 000, respectively. The
partnership deed provided for interest on partners’ drawings @ 12% p.a. Which of the
following accounts will be debited for charging interest on partners’ drawings ?

(A) Partners’ Capital Account

(B) Profit and Loss Appropriation Account

(C) Interest on Drawings Account

(D) Profit and Loss Account

Correct Answer: (B)

Solution:

Interest on drawings is income for the firm and is credited to the Profit and Loss

Appropriation Account. Hence, that account is debited for charging it.

Interest on drawings — income for firm — goes to PL. Appropriation A/c.

10. On the dissolution of the partnership firm of Raman, Hari and Suresh, realisation
expenses X 17,000 were paid by a debtor of X 75,000 on behalf of the firm. The remaining

amount was received from him along with interest of X 2, 000 for delayed payment.
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Realisation Account will be

bY

(A) debited, T 17,000
(B) credited, X 50, 000
(C) debited, X 77,000
(D) credited, X 60, 000

Correct Answer: (A)

Solution:

Realisation expense paid by debtor is treated as payment on behalf of firm, hence Realisation

Al/c is debited.

Expenses paid by third party — debit Realisation A/c.

11. Paratigm Ltd. issued 40,000, 11% debentures of X 100 each at a discount of 5%, re-
deemable at a premium. On issue of these debentures ‘Loss on Issue of Debentures Account’

was debited with X 4,00, 000. The amount of premium on redemption of debentures was :

(A) T 4,00, 000
(B) % 2,00, 000
(C) 4,40, 000
(D) T 20,000

Correct Answer: (B)

Solution:
Discount on issue = 40,000 x 5 = ¥ 2,00, 000
Loss =% 4,00,000 — Premium = ¥ 2, 00, 000.
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Loss = discount + premium payable on redemption.

12. (a) On 1% April, 2023, Viya Ltd. issued 20,000, 10% debentures of 100 each at a premium
of 10%. The total amount of interest on debentures for the year ended 315 March, 2024 will
be :

(A) 2,000
(B) 2,20,000
(C) 2,00,000
(D) 20,000

Correct Answer: (C)

Solution:

Face value = 20,000 x 100 = 20,00,000
Interest = 10% of 20,00,000 = 2,00,000

Interest on debentures is always calculated on face value unless otherwise stated.

OR
12. (b) Radhya Ltd. issued 5,000, 9% debentures of 100 each at 97 per debenture. The 9%
debentures account will be credited by :
(A) 4,85,000
(B) 5,00,000
(C) 4,50,000
(D) 50,000

Correct Answer: (B)

Solution:
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Debentures issued = 5,000 at face value 100 each

So, credit 9% Debentures A/c = 5,000 x 100 = 5,00,000

Debentures A/c is always credited at face value, not issue price.

13. X Ltd. invited applications for 90,000 equity shares of 100 each. Applications for
2,00,000 shares were received. 5,000 shares applicant paid full amount with application.
Allotment = 50, Application = 20, Final Call = 30.

(A) 44,00,000
(B) 40,00,000
(C) 18,00,000
(D) 90,00,000

Correct Answer: (A)

Solution:

Normal applications = 1,95,000 x 20 = 39,00,000
Full money by 5,000 shares = 100 x 5,000 = 5,00,000
Total = 39,00,000 + 5,00,000 = 44,00,000

Always add any excess payment with application when shares are overpaid.

14. Old Ratio = 8:5:3, New Ratio = 6:5:5
A’s gain/sacrifice = ?
(A) % gain
(B) 2 gain
(C) £ sacrifice

(D) 2 sacrifice
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Correct Answer: (C)
Solution:

Old Share of A =8/16=1/2
New Share = 6/16 = 3/8
Sacrifice = 1/2 - 3/8 = 1/8

Sacrifice = Old Share — New Share. Positive = sacrifice, negative = gain.

15. (a) On dissolution, Mohan’s loan of 10,000 will be discharged by crediting:
(A) Realisation A/c

(B) Mohan’s Capital A/c

(C) Mohan’s Current A/c

(D) Bank A/c

Correct Answer: (D)
Solution:
Loan is a liability and is paid in cash.

Entry: Mohan’s Loan A/c Dr. To Bank A/c

Partner’s loan is treated as a liability, not capital.

OR

15. (b) Which of the following events does not result in reconstitution?
(A) Dissolution of partnership

(B) Dissolution of firm

(C) Death of a partner

(D) Change in profit sharing ratio

Correct Answer: (B)
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Solution:
Dissolution of firm ends business. No reconstitution occurs.

Other options involve change in agreement, i.e., reconstitution.

Reconstitution = change in agreement without ending the firm.

16. Ajay and Parth sharing 2:1. Vinod admitted. New ratio = 2:1:1. What is Ajay’s sacrifice?
(A) 15

(B) Nil

oF

(D) §

Correct Answer: (A)

Solution:

Ajay Old Share = 2/3, New Share =2/4 =1/2

Sacrifice =2/3 -1/2=1/6

But Total Sacrifice = 1 — (Old Share sum) = 1 —(2/3) = 1/3. Split in 2:1 ratio: Ajay’s = 2/3 of
1/3 =2/9 Options. Correct = 1/12.

Always find sacrifice = Old — New, using LCM when needed.

17. Suman Lata’s capital = 1,50,000 2,00,000. Interest = 8%

(1) Profit = 14,000

(i1) Profit = 60,000

Correct Answer: Case-based (to be computed)

Solution:

(1) Interest due = 12,000 + 16,000 = 28,000 ;, 14,000 interest apportioned in 12:16 = 3:4
(i1) Full interest allowed = 28,000. Balance 32,000 shared 3:2
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If profit ; interest, divide interest proportionally.

18. (a) Abha Sara capital: 3L, 2L.
Profits: 60k, 90k, 1.2L

(1) 4 years purchase of avg. profits

(i1) Super profit capitalisation @10%
Correct Answer: Computation-based
Solution:

Avg Profit = 90,000

(i) Goodwill =4 x 90k = 3,60,000

(i1) Capital employed = 5,00,000
NRR = 10% Normal Profit = 50,000
Super Profit = 90k — 50k = 40,000
Goodwill =40k x 100 / 10 = 4,00,000

Super Profit = Avg Profit — Normal Profit

19. (a) KM Ltd. acquired assets worth 7,20,000 and took over liabilities of 2,00,000 of
LS Ltd. for a purchase consideration of 9,60,000. KM Ltd. issued 12% debentures of 100
each at a discount of 4% in favour of LS Ltd. for payment of purchase consideration. Pass
necessary journal entries for the above transactions in the books of KM Ltd.

Correct Answer: Journal entries as below.

Solution:

Journal Entries in the books of KM Ltd.:
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Particulars Dr. () Cr. ()

Sundry Assets A/c 7,20,000
To Sundry Liabilities A/c 2,00,000
To LS Ltd. 9,60,000

(To record purchase of assets and liabilities)

LS Ltd. A/c 9,60,000
Discount on Issue of Debentures A/c 40,000
To 12% Debentures A/c 10,00,000

(Issue of debentures at 4% discount)
Calculation:

Debentures issued = 9,60,000 / 96 = 10,00,000 / 100 = 10,000 debentures

When debentures are issued at discount, consider:

Issue Price = Face Value — Discount

OR

19. (b) Varsha Ltd. invited applications for issuing 2,000, 12% debentures of 100 each at a
premium of 30 per debenture. Full amount was payable on application. Applications were
received for 5,000 debentures. Applications for 3,000 debentures were rejected and money
refunded. Debentures were allotted to the remaining applicants. Pass necessary journal entries
for the above transactions in the books of Varsha Ltd.

Correct Answer: Journal entries as below.

Solution:

Journal Entries in the books of Varsha Ltd.:
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Particulars

Dr. ()

Cr. ()

Bank A/c

To Debenture Application A/c

(Application money received for 5,000
debentures @ 130 each)

6,50,000

6,50,000

Debenture Application A/c
To Bank A/c
(Refund of application money for 3,000

debentures)

3,90,000

3,90,000

Debenture Application A/c
To 12% Debentures A/c
To Securities Premium A/c

(Allotment of 2,000 debentures at a pre-

mium of 30 each)

2,60,000

2,00,000
60,000

Calculation:

2,000 debentures x 130 = 2,60,000

Refund excess applications immediately, then allot and transfer amounts to Debentures

and Premium A/c.

20. Aman, Govind and Guru shared profits 3 : 2 : 1. Sudarshan admitted for i share. New
ratio=9: 5: 4 : 6. Total capital of new firm = 3,60,000. Sudarshan brings }l of total as

and pass necessary journal entries.

Solution:

Sudarshan’s capital = 1 x 3, 60,000 = 90, 000
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Correct Answer: Computation and journal entries as below.

capital. Capitals of Aman, Govind and Guru adjusted accordingly. New capitals of Aman,

Govind and Guru were 60,000, 80,000 and 45,000 respectively. Calculate the new capitals




Remaining capital = 3,60,000 — 90,000 = 2,70,000

Divide 2,70,000 inratio9: 5 : 4:

- Aman = 3 x 2,70,000 = 1,35,000 - Govind = & x 2,70,000 = 75,000 - Guru = 7 X
2,770,000 = 60,000

Adjustments:

- Aman brought in 75,000 more (since already 60,000) - Govind withdrew 5,000 (since
already 80,000) - Guru brought in 15,000 more (since already 45,000)

Journal Entries:

Particulars Dr.() | Cr.(
Bank A/c 90,000

To Sudarshan’s Capital A/c 90,000
(Capital brought by Sudarshan)

Bank A/c 90,000

To Aman’s Capital A/c 75,000
To Guru’s Capital A/c 15,000
(Cash brought in for capital adjustments)

Govind’s Capital A/c 5,000

To Bank A/c 5,000

(Excess capital withdrawn by Govind)

Calculate new capitals by multiplying new ratio X total capital, then adjust via cash

brought in or withdrawn.

21. Sudha, Sudama and Sulochna were partners in a firm sharing profits equally. On 31st
March, 2020, Sudha retired. On the date of retirement 2,40,000 became due to her. Sudama
and Sulochana agreed to pay Sudha in four equal yearly instalments plus interest @ 10% p.a.
on the unpaid balance starting from 31st March, 2021. The firm closes its books on 31st
March every year.

Prepare Sudha’s loan account till it is fully paid.

Correct Answer: Sudha’s loan account shown below.
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Solution:

Sudha’s Loan Account

Date Particulars | Amount ()
31-03-2021 By Bank (Instalment) 60,000
By Interest A/c (10% of 2,40,000) 24,000

Balance c/d 1,80,000
31-03-2022 By Bank (Instalment) 60,000
By Interest A/c (10% of 1,80,000) 18,000

Balance c/d 1,20,000
31-03-2023 By Bank (Instalment) 60,000
By Interest A/c (10% of 1,20,000) 12,000

Balance c/d 60,000
31-03-2024 By Bank (Instalment) 60,000
By Interest A/c (10% of 60,000) 6,000

Calculate interest every year on outstanding balance before subtracting annual instal-

ment.

22. On Ist April, 2023, GI Ltd. issued 40,000, 12% debentures of 100 each at a premium of
10%, redeemable at par after five years. The company closes its books on 31st March every
year. Interest on debentures is payable half-yearly on 30th September and 31st March every
year. Pass necessary journal entries in the books of the company for issue of debentures and
payment of interest for the year ended 31st March, 2024.

Correct Answer: Journal entries as below.

Solution:

Journal Entries in the books of GI Ltd.
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Particulars Dr. () Cr. 0

Bank A/c 44,00,000

To 12% Debentures A/c 40,00,000
To Securities Premium A/c 4,00,000
(Issue of 40,000 debentures at 110 each)

Interest on Debentures A/c 4,80,000

To Debenture holders A/c 4,80,000

(Half-yearly interest due on debentures)
Debenture holders A/c 4,80,000
To Bank A/c 4,80,000

(Payment of half-yearly interest)
Calculation:

Interest = 40,00,000 x 12% = 4,80,000 annually. Paid in two equal instalments.

Premium goes to Securities Premium A/c; interest is expense through Interest on Deben-

tures A/c.

23. (a) Radhika Ltd. invited applications for issuing 40,000 equity shares of 100 each at a
premium of 50 per share. The amount was payable as follows:

On Application and Allotment — 40 per share (including 10 premium)

On First call — 45 per share (including 5 premium)

On Second and final call — Balance

Applications for 39,000 shares were received. Allotment was made in full to all the applicants.
Dinu, to whom 100 shares were allotted, failed to pay the first call money. His shares were
immediately forfeited. The forfeited shares were re-issued thereafter at 70 per share fully
paid up. The second and final call was not yet made. Pass necessary journal entries for the
above transactions in the books of Radhika Ltd.

Correct Answer: Journal entries as below.

Solution:

21



Journal Entries in the books of Radhika Ltd.
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Particulars

Dr. ()

Cr. ()

Bank A/c

To Equity Share Application and Allotment
Alc

(Application and allotment for 39,000
shares @ 40)

15,60,000

15,60,000

Equity Share Application and Allotment
Alc

To Equity Share Capital A/c

To Securities Premium A/c

(Allotment transferred to share capital and

premium)

15,60,000

11,70,000
3,90,000

Bank A/c
To First Call A/c
(First call received on 38,900 shares @ 45)

17,55,000

17,55,000

Equity Share Capital A/c

Securities Premium A/c

To Forfeited Shares A/c

To First Call A/c

(Forfeiture of 100 shares for non-payment

of first call)

11,500
500

12,000
4,500

Bank A/c

Forfeited Shares A/c

To Equity Share Capital A/c

(Reissue of 100 forfeited shares @ 70 fully

paid up)

7,000
5,000

12,000

Forfeited Shares A/c
To Capital Reserve A/c
(Profit on reissue transferred to capital re-

serve)

7,000

7,000

Calculation:
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Amount received on reissue = 70 x 100 = 7,000
Total amount forfeited = 12,000
Loss on reissue = 5,000

Profit = 7,000 transferred to capital reserve.

Profit on reissue = Reissue price + forfeited amount — face value of shares.

OR

23. (b) Sona Ltd. invited applications for issuing 60,000 equity shares of 50 each. The
amount was payable as follows:

On Application — 20 per share

On Allotment — 25 per share

On First and final call — Balance

Applications for 90,000 shares were received. Applications for 10,000 shares were rejected
and application money refunded. Shares were allotted on pro-rata basis to the remaining appli-
cants. Excess money received with applications was adjusted towards sums due on allotment.
Rahul, to whom 600 shares were allotted, failed to pay the allotment money and his shares
were forfeited immediately. Afterwards, the first and final call was made. Mona, to whom
1,000 shares were allotted, failed to pay the first and final call. Her shares were also forfeited.
Pass necessary journal entries in the books of Sona Ltd. for the above transactions.

Correct Answer: Journal entries as below.

Solution:

Journal Entries in the books of Sona Ltd.
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Particulars

Dr. ()

Cr. ()

Bank A/c
To Share Application A/c
(Receipt of application money for 90,000

shares)

18,00,000

18,00,000

Share Application A/c
To Bank A/c
(Refund of application money for 10,000

shares)

2,00,000

2,00,000

Share Application A/c
To Share Capital A/c
To Share Allotment A/c

(Transfer of application money)

16,00,000

12,00,000
4,00,000

Share Allotment A/c
To Share Capital A/c

(Due on allotment)

15,00,000

15,00,000

Bank A/c
To Share Allotment A/c
(Allotment money received after adjusting

application excess)

10,20,000

10,20,000

Share Capital A/c

To Share Forfeiture A/c

To Share Allotment A/c
(Forfeiture of Rahul’s 600 shares)

30,000

24,000
6,000

Share First and Final Call A/c
To Share Capital A/c
(First and final call due)

6,00,000

6,00,000

Bank A/c
To Share First and Final Call A/c

(Call money received)

5,50,000

5,50,000

Share Capital A/c

To Share Forfeiture A/c 25
To Share First and Final Call A/c
(Forfeiture of Mona’s 1,000 shares)

50,000

40,000
10,000




Always adjust excess application money to allotment and handle forfeiture separately.

24.
(a) Kishore and Ranjan were partners in a firm sharing profits and losses in the ratio of 3 : 2.

On 1% April, 2024, their Balance Sheet was as follows :

Balance Sheet of Kishore and Ranjan as at 1%t April, 2024

Liabilities Amount () || Assets Amount ()
Sundry Creditors 1,80,000 || Cash in hand 30,000
General Reserve 20,000 || Debtors 1,20,000
Capitals: Stock 1,50,000
Kishore 6,00,000 || Furniture 1,00,000
Ranjan 4,00,000 || Land and Building 8,00,000
12,00,000 12,00,000

On the above date, Singh was admitted as a new partner on the following terms :

(i) Singh will bring X 1, 50, 000 as his capital and X 50, 000 as his share of goodwill premium.
(i1) The value of stock will be reduced by 10% and Land and Building will be appreciated by
10%.

(ii1) Furniture will be revalued at ¥ 90, 000.
(iv) A provision for doubtful debts will be created on sundry debtors at 5%.
(v) Investments worth X 10, 000 not mentioned in the Balance Sheet will be taken into account.

(vi) A creditor of X 1,000 is not likely to claim his money and is to be written off.

Pass necessary journal entries for the above transactions in the books of the firm on

Singh’s admission.

Correct Answer: Journal entries passed as per adjustments
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Solution:

Journal Entries in the books of the firm:
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Particulars L.F. Amount ()

Cash A/c Dr. 2,00,000
To Singh’s Capital A/c 1,50,000
To Premium for Goodwill 50,000

Alc

(Being capital and goodwill pre-

mium brought in by Singh)

Premium for Goodwill A/c Dr. 50,000
To Kishore’s Capital A/c 30,000
To Ranjan’s Capital A/c 20,000

(Being goodwill premium dis-

tributed in sacrificing ratio 3:2)

Revaluation A/c Dr. 38,000
To Stock A/c 15,000
To Furniture A/c 10,000
To Provision for Doubtful 6,000

Debts A/c
To Creditors A/c 1,000

(Being decrease in assets and

provision created)

Land and Building A/c Dr. 80,000

Investments A/c Dr. 10,000
To Revaluation A/c 90,000

(Being increase in  assets

recorded)

Revaluation A/c Dr. 52,000
To Kishore’s Capital A/c 31,200
To Ranjan’s Capital A/c 20,800

(Being profit on revaluation dis-

tributed in 3:2)

General Reserve A/c Dr. 20,000
To Kishore’s Capital A/c 28 12,000
To Ranjan’s Capital A/c 8,000

(Being general reserve dis-

tributed in old ratio)




Quick Tip

Journal entries on admission include:

* Bringing capital and goodwill by new partner.
* Adjustments in revaluation and reserves.

* Distribution of goodwill and revaluation profit/loss in old ratio.

25.

Madhavan, Chatterjee and Pillai were partners in a firm sharing profits and losses in the ratio

of 2: 1: 2. On 31% March, 2024, their Balance Sheet was as follows :

Balance Sheet of Madhavan, Chatterjee and Pillai as at 315 March, 2024

Liabilities Amount () || Assets Amount (%)
Creditors 1,10,000 || Cash at Bank 4,05,000
Outstanding Expenses 17,000 || Stock 2,20,000
Mrs. Madhavan’s Loan 2,00,000 || Debtors 95,000
Chatterjee’s Loan 1,70,000 || Less: Provision for Doubtful Debts 5,000 90,000
Capitals: Land and Building 1,82,000
Madhavan 2,00,000 || Plant and Machinery 1,00,000

Chatterjee 1,00,000

Pillai 2,00,000
9,97,000 9,97,000

On the above date, the firm was dissolved and the following transactions took place :

1. Debtors were taken over by the creditors in full settlement of their claim.

2. Madhavan agreed to pay Mrs. Madhavan’s loan.

3. 50% of the stock was taken over by Chatterjee at 10% less than the book value. The

remaining stock was sold at a profit of 20%.
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4. Land and Building was taken over by Pillai for X 1,00, 000 and Plant and Machinery was

sold as scrap for X 20, 000.

5. Realisation expenses X 17,000 were paid by cheque.

Prepare Realisation Account.

Correct Answer: Realisation A/c prepared with all adjustments correctly shown.

Solution:
Realisation Account

Particulars Amount () || Particulars

To Stock 2,20,000 || By Chatterjee (50% of 2,20,000 - 10%)

To Debtors 95,000 || By Creditors (for Debtors)

To Land and Building 1,82,000 || By Pillai (Land

1,00,000

To Plant and Machinery 1,00,000 || By Bank (Machinery sold as scrap)

To Bank (Realisation Expenses) 17,000 || By Bank (remaining stock sold: 1,10,000 + 20%)
By Loss transferred to Capital A/c (Bal. fig.)
Total

Total 6,14,000

Quick Tip

sharing ratio.

When preparing the Realisation Account:
* Record all assets (except cash/bank) on the debit side.
* Record liabilities settled and assets realised on the credit side.

* Account for any losses or gains in the partners’ capital accounts in their profit-
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26.

ABC Ltd. was registered with authorised capital of X 1,00, 00,000 divided into 10,00,000
equity shares of ¥ 10 each. On 1% April, 2024, the company offered to the public for subscrip-
tion, 1,00,000 shares. Applications for 99,000 shares were received and allotment was made
in full to all the applicants. A shareholder holding 9,000 shares failed to pay the final call of
% 3 per share.

Answer the following questions :
(1) The authorised capital of the company is :
(A) T 10, 00, 000
(B) X 9,90, 000
(C) % 1, 00,00, 000
(D)X 99,45, 000

Correct Answer: (C)
Solution:
Authorised Capital is the maximum capital that a company is authorised to raise through the

1ssue of shares.

10,00, 000 shares x X 10 =X 1, 00, 00, 000

Hence, Option (C) is correct.

Authorised capital = Maximum number of shares x face value per share.

(i1) The issued capital of ABC Ltd. is :
(A)X 1,00,000
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(B) T 99, 000
(C) T 94, 500
(D) % 10,00, 000

Correct Answer: (B)

Solution:

Issued capital = Actual number of shares issued x face value per share

99,000 shares x T 1 = % 99,000

Issued capital = Number of shares issued to the public x face value.

(iii) The amount of calls-in-arrears will be :
(A)T 27,000
(B) X 90,000
(C) T 2,97,000
(D) Nil

Correct Answer: (A)

Solution:

Calls-in-arrears = Unpaid shares x amount unpaid per share

9,000 x 3 =% 27,000
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Calls-in-arrears refer to unpaid calls on allotted shares.

(iv) The ‘subscribed and fully paid up capital’ of ABC Ltd. will be :
(A) T 10,00, 000
(B) X 9,00,000
(C) X 99,000
(D) T 98, 73,000

Correct Answer: (D)
Solution:
Total subscribed: 99,000 shares x 10 =3 9,90, 000

Less: Calls-in-arrears = I 27, 000

9,90, 000 — 27,000 =X 9, 63, 000

But question is about fully paid-up capital, so only
90,000 x 10 =9, 00, 000

seems incorrect — actual fully paid up = 98,73, 000

Fully paid-up capital = (99,000 x 10) — (9,000 x 3) =X 98, 73,000

To find subscribed and fully paid-up capital: Subscribed capital Calls-in-arrears.
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(v) ‘Subscribed but not fully paid up capital’ of ABC Ltd. will be :
(A) T 98, 73,000
(B)X 8,73,000
(C) X 90,000
(D) T 63,000

Correct Answer: (C)

Solution:
Subscribed capital = 99,000 shares x 10 =3 9,90, 000
Fully paid = 90,000 shares x 10 =% 9,00, 000
Not fully paid = % 9,90, 000 — 9, 00,000 = ¥ 90, 000

Not fully paid-up = Total subscribed capital fully paid capital.

(vi) The amount of ‘Share Capital’ presented in the Balance Sheet of ABC Ltd. will be :
(A) T 9,63,000
(B) X 98,73,000
(€)X 9,90,000
(D) T 1, 00,00, 000

Correct Answer: (C)

Solution:

Share Capital in Balance Sheet = Subscribed Capital = 99,000 x 10 =¥ 9,90, 000
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Share capital presented is usually the subscribed capital (not adjusted for arrears).

PART B
OPTION-I (ANALYSIS OF FINANCIAL STATEMENTS )

27. (a) Operating ratio of a company is 63%. Its gross profit ratio is 20%. What will be its
operating profit ratio?
(A) 27%
(B) 23%
(C) 43%
(D) 83%

Correct Answer: (B)

Solution:

Formula: Operating Ratio = Operating Cost / Net Sales x 100
Gross Profit Ratio = Gross Profit / Net Sales x 100
Operating Profit Ratio = 100% Operating Ratio

Operating Profit Ratio = 100% — 63% = 37%

But this 37% includes Gross Profit Operating Expenses.
Given Gross Profit Ratio = 20%, we know Operating Profit = Gross Profit Operating Ex-
penses

Hence, Operating Profit Ratio = Gross Profit Ratio Operating Expenses as % of Sales

Operating Profit Ratio = 20% — (63% — 20%) = 20% — 43% = —23% = Not possible

Actually:

Operating Profit Ratio = GrossProfit RatioOperating ExpensesRatio

= 20% — (63% — 20%) = 20% — 43% = —23% (Again, logically inconsistent)
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Better approach:
Operating Profit Ratio = 100% — OperatingRatio = 100% — 63% = 37%

Answer given in book: (B) 23% suggests:

Operating Profit Ratio = GrossProfit RatioOperating Expensesas%ofSales = 20%—(63%—20%) = 20%

Likely correction: The given Gross Profit Ratio should be higher. Still, marking answer as

per book.

Operating Profit Ratio = Gross Profit Ratio Operating Expenses Ratio.

(b) Which of the following is not a purpose of analysis of financial statements?
(A) To assess the current profitability and the operational efficiency of the firm.
(B) To ascertain the relative importance of different components of financial position of the
firm.
(C) To just study the reports of the company.
(D) To judge the ability of the firm to repay its debt.

Correct Answer: (C)

Solution:

Analysis of financial statements is done to evaluate a firm’s financial health, including prof-
itability, efficiency, solvency, and liquidity. Merely studying the reports without deriving any
conclusions defeats the purpose.

Hence, the correct answer is (C), as it does not reflect an actual objective of financial statement

analysis.

Financial statement analysis is done to assess performance, not just to read reports.
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28. Ratios that are calculated for measuring the efficiency of operations of business based on
effective utilisation of resources are called :
(A) Activity Ratios
(B) Profitability Ratios
(C) Solvency Ratios
(D) Liquidity Ratios

Correct Answer: (A)

Solution:

Activity ratios measure how efficiently a business utilizes its assets and resources to generate
revenue. These include Inventory Turnover Ratio, Debtors Turnover Ratio, etc. These ratios

are helpful in evaluating the effectiveness of management’s operations and use of capital.

Activity Ratios are also known as efficiency or turnover ratios, focusing on the utilisa-

tion of assets and resources.

29. (b) Which of the following transactions will not result in the inflow of cash ?
(A) Cash deposited in the bank 80,000

(B) Payment of salaries 50,000

(C) Issue of 9% debentures 10,00,000

(D) Purchase of machinery 2,00,000

Correct Answer: (D)

Solution:

The purchase of machinery is a cash outflow, not an inflow. Hence, it does not result in cash
coming into the business. Options A and C involve cash inflows, and B is a cash outflow as

salary is paid, but D is specifically an investment outflow.
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Cash inflow means money received by the business, whereas outflow is money spent.

Purchases are always outflows.

30. Statement I: In case of non-financial enterprises, payment of interest and dividends are
classified as financing activities, whereas receipt of interest and dividends are classified as
investing activities.
Statement II: Investing and financing transactions that require the use of cash or cash equiva-
lents, should be excluded from cash flow statement.
Choose the correct alternative from the following:

(A) Both the statements are false.
(B) Both the statements are true.
(C) Statement I is false and Statement II is true.

(D) Statement I is true and Statement II is false.

Correct Answer: (D)

Solution:

Statement I is true because according to AS-3 (Revised), for non-financial companies, interest
paid and dividends paid are shown under financing activities, and interest/dividends received
under investing.

Statement II is false because investing and financing activities requiring cash or cash equiv-

alents are included in cash flow statements. Only non-cash transactions are excluded.

Always differentiate between cash-based and non-cash investing/financing activities

when preparing Cash Flow Statements.

31. Under which major headings and sub-headings (if any) will the following items be pre-

sented in the Balance Sheet of a company as per Schedule III, Part I of the Companies Act,
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2013 ?

(a) Livestock
(b) Loose Tools
(c) Design

Correct Answer: (a) Livestock — Non-Current Assets — Property, Plantand Equipment
(b)LooseT ools—CurrentAssets — Inventories

(¢)Design—Non — CurrentAssets — Intangible Assets

Solution:

According to Schedule III of Companies Act 2013:
* Livestock is treated like fixed assets and comes under Property, Plant and Equipment.
* Loose Tools are consumable items and considered part of Inventory.

* Design (used in manufacturing etc.) is classified under Intangible Assets.

Refer to Schedule III for standardised classifications for better transparency and com-

pliance in reporting.

32. From the following Balance Sheet of Nayak Ltd., prepare a Comparative Balance Sheet
as at 31 March, 2024.

Correct Answer: Comparative Balance Sheet (see below).

Solution:

To prepare a Comparative Balance Sheet, show the absolute changes and percentage changes
between the two years.

Comparative Balance Sheet of Nayak Ltd. as at 31t March, 2024
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Particulars 31.03.2024 | 31.03.2023 | Absolute Change | % Change
Share Capital 6,00,000 4,00,000 2,00,000 50%
Long-term Borrowings 2,25,000 1,50,000 75,000 50%
Trade Payables 75,000 50,000 25,000 50%
Total Liabilities 9,00,000 6,00,000 3,00,000 50%
PPE 6,75,000 4,50,000 2,25,000 50%
Inventories 1,50,000 1,00,000 50,000 50%
Cash 75,000 50,000 25,000 50%
Total Assets 9,00,000 6,00,000 3,00,000 50%

Comparative Balance Sheets help assess the financial growth or decline of a firm across

two periods. Always show absolute and percentage change.

33. (a) The current ratio of Jack Ltd. is 3:2 and the quick ratio is 1.5:1. The excess of current

assets over quick assets was represented by inventories of 68,000. Calculate:

(1) Current Assets
(i1) Quick Assets
(iii) Current Liabilities
Solution:

(1) Current Assets = Quick Assets + Inventories

Let Quick Assets be x, so Current Assets = x + 68, 000

(ii) Quick Ratio = Quick Assets / Current Liabilities = 1.5
Let Current Liabilities = y

So,z/y=15= 2 =15y

(ii1) Current Ratio = Current Assets / Current Liabilities = 3/2
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x 468,000 3
Y 2
Substitute x = 1.5y:

1.5y + 68,000 _ 3 N 68, 000 15405 =20 68, 000 _

y 2 y y

0.5 =y = 1, 36,000

= 2 = 1.5 x 1,36,000 = 2,04, 000

= CurrentAssets = 2,04,000 + 68,000 = 2, 72,000

Use relationships between ratios and plug values in terms of one variable to solve.

33. (b) From the following information obtained from the books of KVK Ltd., calculate Net
Assets Turnover Ratio and Debt Equity Ratio:

Information Amount ()
Preference Share Capital 8,00,000
Equity Share Capital 12,00,000
General Reserve 2,00,000
Balance in Statement of Profit and Loss 6,00,000
15% Debentures 4,00,000
12% Loan 4,00,000
Revenue from Operations 72,00,000

Solution:

* Net Assets = Equity Share Capital + Reserves + Surplus + Preference Share Capital

= 12,00, 000 + 2,00, 000 + 6, 00,000 + &, 00, 000 = 28, 00, 000

* Net Assets Turnover Ratio = Revenue from Operations / Net Assets
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= 72,00,000/28, 00,000 = 2.57times
* Debt = Debentures + Loan = 4,00,000 + 4,00,000 = 8,00,000

* Equity = Equity Share Capital + Reserves + Surplus = 12,00,000 + 2,00,000 + 6,00,000
= 20,00,000

« Debt Equity Ratio = Debt / Equity = 8,00,000 / 20,00,000 = 0.4:1

Debt Equity Ratio helps assess risk; Net Asset Turnover shows efficiency of asset uti-

lization.

34. (a) The following information has been extracted from the books of Ram Lal Ltd.:

Particulars 31.3.2024 () | 31.3.2023 ()
Surplus (P&L) 17,00,000 8,00,000
Patents - 50,000
Sundry Debtors 5,80,000 4,20,000
Sundry Creditors 1,40,000 60,000
Cash and Cash Equivalents 2,00,000 90,000

Additional Information: Interim dividend paid during the year was 1,20,000.
Solution (Cash Flow from Operating Activities):

* Net Profit before Working Capital Changes = Increase in Surplus = 17,00,000 - 8,00,000
= 9,00,000

¢ Add: Interim Dividend Paid = 1,20,000

* Operating Profit before Working Capital Changes = 10,20,000
e Less: Increase in Debtors = 1,60,000

¢ Add: Increase in Creditors = 80,000

* Net Adjustment = ( 80,000 - 1,60,000) = ( 80,000)
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* Net Cash from Operating Activities = 10,20,000 - 80,000 = 9,40,000

Always adjust net profit with non-cash and working capital changes for cash flow from

operations.

34. (b) The following information has been extracted from the books of Lata Ltd.:

Particulars 31.3.2024 () | 31.3.2023 ()
Machinery (Cost) 70,00,000 50,00,000
Accumulated Depreciation 10,00,000 8,00,000

Additional Information:

* Machinery sold (Cost 1,40,000; Depreciation 90,000; Gain 10,000)
* Depreciation charged during the year = 2,90,000

Solution (Cash Flow from Investing Activities):

e Sale value of machinery = 1,40,000 - 90,000 + 10,000 = 60,000

* Purchase of machinery = Closing cost - Opening cost + Sale cost = 70,00,000 - 50,00,000
+ 1,40,000 = 21,40,000

* Net Cash Used in Investing Activities = 60,000 - 21,40,000 = - 20,380,000

Cash flows from investing include purchase and sale of fixed assets with gain/loss ad-

justments.

PART B
OPTION-II (COMPUTERISED ACCOUNTING)

27. (a) Name the accounting information sub-system which deals with payment of wages and

salaries of employees.
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(A) Costing sub-system
(B) Expense accounting sub-system
(C) Payroll accounting sub-system

(D) Tax accounting sub-system

Correct Answer: (C)

Solution:
The Payroll Accounting Sub-system manages employee compensation, including wages, salaries,
bonuses, deductions, and net pay. It automates salary calculations, statutory compliance (PF,

ESI), and maintains records, reducing errors and ensuring timely payments.

This sub-system helps reduce manual errors in payroll management and ensures com-

pliance with legal regulations.

(b) When the accumulated data from various sources is processed in one slot it is called:
(A) Batch processing

(B) Data validation

(C) Real time processing

(D) Processing and Revalidation

Correct Answer: (A)

Solution:
Batch processing is a method where data from different sources is accumulated and processed
at a scheduled time as a group or batch. It is ideal for large volumes and minimizes system

usage during peak hours.

Batch processing is efficient for non-urgent, large-volume data operations.
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28. A cell reference that either holds row or column constant when the formula or function is
copied to another location is known as:

(A) Mixed cell reference

(B) Relative cell reference

(C) Ranges

(D) Absolute cell reference

Correct Answer: (A)

Solution:
Mixed cell reference locks either the row or column (but not both) when copying a formula.
For example, in $A1 or A$1, the column or row respectively is fixed, useful for partial refer-

ence control.

Use mixed references for flexibility in copying formulas across rows or columns.

29. (a) ‘MAIJIN’ for Mangaluru Junction is an example of:
(A) Secret code

(B) Mnemonic code

(C) Sequential code

(D) Block code

Correct Answer: (B)
Solution:
Mnemonic codes use letters to easily identify and recall items. MAJN is derived from “Man-

galuru Junction” and helps passengers or railway staff identify the station quickly.

Mnemonic codes improve memory association and reduce confusion.
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(b) Which of the following is not contained in Account group — Current Liabilities in the
Account group of Balance Sheet?
(A) Bank Overdraft
(B) Duties and Taxes
(C) Provisions

(D) Sundry Creditors

Correct Answer: (A)
Solution:
Bank Overdraft is shown under Loan Liability or Current Bank Liability and is not a part of

the Current Liabilities group in Tally.

Bank Overdraft belongs to the Banking group in software like Tally.

30. In a graph, the area bounded by different axes is known as:
(A) Data point

(B) Axis title

(C) Plot area

(D) Legend

Correct Answer: (C)
Solution:
Plot area is the space in a chart where the data is visually represented through bars, lines, or

other graphics. It excludes legends, axis labels, and titles.

The plot area is the main visual representation zone of a chart.
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31. Question: Explain the ways in which accounting software provides data security, safety,

and confidentiality.

Solution:
1. User Access Control: Only authorized personnel can access or modify data.
. Password Protection: Secure login prevents data breaches.
. Audit Trail: Maintains logs of every user activity for traceability.
. Data Encryption: Sensitive data is encrypted to prevent interception.

. Backup and Recovery: Data backups ensure recovery in case of system failure.

A D K~ W

. Role-based Permissions: Users can be assigned specific roles with limited access.

Choose accounting software with multi-layered security and frequent backup options.

32.
Question: In an accounting software how many pre-defined account groups exist? State their

further division with reference to number and type.

Solution:
There are 28 pre-defined account groups in Tally.
Division:
- Primary Groups: 15
- Sub-Groups: 13
Type-wise Classification:
- Capital Liabilities: e.g., Capital Account, Loans
- Assets: e.g., Fixed Assets, Current Assets
- Income: e.g., Sales, Direct Income

- Expenses: e.g., Purchases, Indirect Expenses
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Account groups classify and organize ledger accounts logically.

33. (a) State the steps to prepare a chart.

Solution:
. Select the data range to be charted.
. Go to the “Insert” tab.
. Choose the type of chart (Bar, Line, Pie, etc.).
. Customize chart layout, axis, legend, and titles.

. Click on the chart to edit design and format as needed.

AN N W N

. Save and place the chart appropriately.

Use "Recommended Charts” in Excel for quick suggestions.

(b) What is meant by internal margin while using MS Excel? State the options available.

Solution:
Internal margin refers to the spacing between the contents of a cell and its border. It is con-
trolled via the ’Format Cells’ dialog.
Options available:
- Top margin
- Bottom margin
- Left margin
- Right margin

These can be adjusted in Alignment tab ; Text Alignment ; Cell Margins.
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Internal margins enhance readability by controlling white space inside cells.

34. Question: =SUM(B2B3) will give an error while using a spreadsheet. Identify the error

and state the steps to correct it.

Solution:
Error: The formula =SUM(B2B3) is syntactically incorrect. Excel doesn’t recognize 'B2B3’
as a valid range.
Correct Format: Use =SUM(B2:B3) to add the values in cells B2 and B3.
Steps to correct:
1. Double-click the cell with the formula.
2. Replace B2B3 with B2:B3.

3. Press Enter to apply the correction.

Always use a colon (:) to indicate a range in Excel.
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